FgArea: ['W1']
NC11 P6
2025-06-12 (Day 68)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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PE6AW

BrE | GEBAK @) | ERE(EA/H | BEBREREB/R) | XS R

07:25 320 160.0 0.314 |Z=| FhHRe07:25 KHEF2F (RAFEREEE)
08:00 320 160. 0 0.314 |Z=| 7iHRe08:00 kHF2F (FKAFEREE)
08:35 320 160.0 0.314 (Z=| ThHA@08:35 KENIEF (RAfEEE)
09:10 320 160.0 0.314 |Z=| FiHR@09:10 KEF2F (RAFEREE)
09:50 320 160. 0 0.314 |Z=| FiHRe09:50 KHEF2F (FRAFEREE)
10:25 320 160.0 0.314 (Z=| FhHA@10:25 KENIEF (GRAMRE:R)
11:00 320 160.0 0.314 (Z=| FhHAe11:00 KEIEFE CGRAHEESE)
11:35 320 160.0 0.314 |Z=| FiHRe11:35 kHEIEFE (RAHERESE)
12:10 320 160.0 0.314 |Z=| FhHR@12:10 KEIEF (RAHEREEE)
12:40 320 160.0 0.314 (Z=| ThHA@12:40 KEIEFE CGRAKESE)
13:10 320 160.0 0.314 |Z=| FiHRe13:10 kHEIEFE (RAHEREE)
13:40 320 160.0 0.314 |Z=| 7HHR@13:40 KEIZF (KRAHEREEE)
14:10 320 160.0 0.314 (Z=| FHA@14:10 KEIEFE CGRAMFESE)
14:40 320 160.0 0.314 |Z=| 7hHRe14:40 KHIEF (RAHEREEE)
15:15 320 160.0 0.314 (& =| FiHRe15:15 KHEF CGRAERKE)
15:50 320 160.0 0.314 (Z=| FhHA@15:50 KEIEF (GRAMEESE)
16:30 320 160.0 0.314 |Z=| 7hHRe16:30 KEEF (RAFHEREEE)
21t 5440.0 (170%) 2720.0 32 3HKEC: 2080.0, PH: 6.5

#HERECE (2057.0 vs 4220.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)

P6AW W1, Day=68 (2025-06-12)
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P6AW

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

08:35 320 160.0 0.314 5| {Ri%@08:35 Bz (FAERSE)
09:05 320 160.0 0.314 = {Rig@09:05 B (KRAERSE)
09:50 320 160. 0 0.314 E 1BRi&@09:50 Bzl (RAERE)
10:30 320 160.0 0.314 5| {Ri%@10:30 B3 (GRAERSE)
11:05 320 160.0 0.314 =l RRiB011:05 B (RFEAEESE)
11:40 320 160.0 0.314 =l RiB011:40 Bz (REAEEE)
12:10 320 160.0 0.314 =l Rige12:10 B3 (REAEESE)
12:40 320 160.0 0.314 =l {Rige12:40 B3 (RAERSE)
13:10 320 160.0 0.314 S {Rige13:10 B3 (RAERSE)
13:40 320 160. 0 0.314 E| {Rig013:40 B3h (GRE{ERSE)
14:15 320 160.0 0.314 E BRige14:15 Bz CGRAERESE)
14:45 320 160.0 0.314 S| {Rige14:45 B3 (RAERSE)
15:20 320 160. 0 0.314 F BRige15:20 Bz (GRAERERE)
15:55 320 160.0 0.314 F BRige15:55 Ba1 (GRAERESE)
16:35 320 160.0 0.314 = 1Ri%016:35 B (RAERSE)
17:35 320 160.0 0.314 E BRige17:35 Bz GRAERESE)
2it]5120.0 (167%) 2560. 0 323 KEC: 2080.0, PH: 6.5

ML EMRERA (0.9) , FRE

MEREHER 2 STHAE RS (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

#[EKECE (2060. 0 vs 4190.0) 5



P6AW_W1, Day=67 (2025-06-11)
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BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

08:25 300 160.0 0.314 F  BRi%e08:25 B (RAERSE)
09:00 300 160.0 0.314 S| {Ri%@09:00 B3 (RAAERSE)
09:40 300 160. 0 0.314 E BRi%e09:40 BE1 (RAERE)
10:35 300 160.0 0.314 F BRi1%e10:35 Bz CGRAERSE)
11:10 300 160.0 0.314 Sl Rige11:10 B3 (GRAERSE)
11:50 300 160. 0 0.314 E BRige11:50 Bz (GRAERESE)
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16:20 300 160.0 0.314 =l RRiB016:20 B (RFAEESE)
17:10 300 160.0 0.314 =l RRiBe17:10 Bz (RAEEE)
21t] 4500.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 6.5

WKFEERRRA (0.9 , BT

MEREHER 2 STHIE RS (286.0 : 150.0), AIREKREERE
BRIASERRIERE150. 0 ml.

RE X 13 [B] RECEUIE S sk

FEERECE (2120. 0 vs 4380.0) i3
REXREBT I HEREC/PHER K, FIREINIEAR K
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150 1y, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 4501
3584 - 4000
100
2700
49993
L 2000
50
49 Warning: col ['FVI', "FVO'] missing 67
00
0 -0
_ ( o v —_ MW P
I 300 FRV maxM L 40
C
©
= 200 - =
— P ———————— g = e ol e g ] et P e e ol o [ o e el =l = = = e el e e e ———————— =
E - 30
~ 100 -
(o'
[
1.0 20
"
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 ° > ECBx10% [*
2200 - o o o ® o ® ECC
°
oo %o
e S LT LT e S e e NN L —= == == f === ===
Y o
2000 -
°
1900 -
3 °
7.0 optPHO=6.5, setPHB=6.5 —¢  PHB*10%
® PHC
o0 °
o o
6.5 F——— e eI H—— BB — ——————m e m ]
o ° o
6.0
400 - i A
. BylInit @D68 02:07: ET=2292 Fg=2400.0 Ro=203.0 ¢ 2000
45300— 1
= ! & & o
S ! L 2000
£ 200 -
C : 1000
— 100 - 1
] 1
1
8 S Al S N 0
4003 0 | 1] 2 | 3] 4 | 5] 6 7] 81 9 [0 11 [12]13[14] 151617 18] 197 2 ] 21 | 22 ] 23
o | B | % | [ | % | | % [ | | % | | % | | % | % [ # | % | % | % [ # | B | % | 8 | 3000
c | 1
S 30071 ByEt @D66 19:34: ET=2315 Fg=2400.0 Ro=nan :
S L 2000
£ 200
C 1000
— 100
8 S S V=N VN = 0
4003 0 | 1] 2 | 3] 4 | 5] 6 7] 81 9 [10]] 111213 [14] 1516 ] 17 18] 197 20 21 [ 22 | 23
5 | B | | [ | m | [ m % | | m | @ | | | m [ | % [ [ [ [ | @ | @ | 3000
= i 1
= %997 ByWoFv @D68 02:07: ET=2193 Fg=2400.0 Ro=391.0
S | L 2000
£ 200 -
C : 1000
— 100 - 1
] 1
1
1.0 S Al S N o 0
01 1] 21 31 4151 6] 71871 9 [10] 11 [12]13] 1415 1617 18192072122 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES Hi E3 E3 ES ES E3 E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4
0.2
[
| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



T T T
600 800 1000

m=620,m FV0=0
—o— MW
35
34
33
620 625 630
m=785,m FV0=0
401 —o— MW
39
38 -
37
785 790 795
m=905,m FV0=0
43.5 — N
43.0 1
42.5
42.0 A
41.5

905 910 915

41.

40.

40.

39.

39.

38.

43.

43.

42.

42.

m=495, FV0=0

26

25 H

24 -

23 A

M_W

560 565
m=675,n FV0=0

36

35 -

34 A

33 -

GéO 6é5
m=815,n FV0=0

—— MW

850 8é5
m=935,n FV0=0

815

-— MW

g

935 940 945

42.

41.

41.

40.

44.

43.

43.

42.

m=530, FV0=0
314 —@— MW
30 -
29
28
27
530 535 540
m=705,m FV0=0
—o— MW
38 -
37
36
35
705 710 715
m=850,m FV0=0
0 —— MW
5 -
o -
5 -
850 855 860
m=965,m FV0=0
0 —— MW
5 -
0 -
5 -

970 975

39.

39.

38.

38.

37.

37.

36.

43.

42.

42.

41.

41.

40.

44,

43.

43.

42.

m=570, FV0=0
34 4
—0— MW
33 4
32
31 4
5%0 5;5 5é0
m=740,m FV0=0
S1 —@— MW
0 -
5 -
0 -
5 -
0 -
5 T T T
740 745 750
m=875,m FV0=0
0
—— MW
5 -
0 -
5 -
0 -
5 T T T
875 880 885
m=1005m FVO=0
—-o— MW
0 -
5 4
0 -
5 -
10b5 10H0 1615



m=1040, FV0=0

—o— MW
44. 25 ~

44.00 -
43.75 -
43.50 -
43.25 -

43. 00 ~

T T T
1040 1045 1050



hour

100

35
35

80
:50
140

60
140
:35

40
:20
105

20
10
25 -

-0




PE6AW

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

08:35 308 160.0 0.314 [Z=| 1Bi&e08:35 Bzh (REERSE)
09:35 308 160.0 0.314 |2 =| 1Ri%e09:35 B (KREZBE)
10:50 308 160. 0 0.314 |Z=| 1BRi&e10:50 Bzl (RAERESE)
11:40 308 160.0 0.314 |Z=| 1Ri%e11:40 Bz CGREERSE)
12:40 308 160.0 0.314 |2 =| 1Ri%e12:40 B3 (REZBE)
13:35 308 160.0 0.314 |/hili| 1Ri&e13:35 Bzl (RAERSE)
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15:05 308 160.0 0.314 |2 =| 1Ri%e15:05 B (REAEZEBE)
16:10 308 160.0 0.314 |Z=| 1Ri%e16:10 Bz CGREEZERE)
21t 2772.0 (9%) 1440.0 3203 KEC: 2080.0, PH: 6.5
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BE X i3 B R ECET 1B Hh ok .
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RER L HEREC/PHIE R K, AT RERMIHRELR SR

450.0), AIEEKREBERME




P6AW_W1, Day=65 (2025-06-09)
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PE6AW

BfiE) | GEREETHK (FD) EE (ZAH/H%) | EREE B/R) |[ X8 R

07:20 600 160. 0 0.314 E BRi&e07:20 Fz1 (RAERERE)
07:55 600 160.0 0.314 5| {Ri%@07:55 Fzh (FAEHSE)
08:50 600 160.0 0.314 & 1RiRe08:50 Fz (KRREERE)
09:30 600 160. 0 0.314 E 1BRi&@09:30 Fzh (RAEREE)
10:10 600 160.0 0.314 5 {Ri%e10:10 F3h (RAERSE)
10:45 600 160.0 0.314 = RRi1B0@10:45 Fz (RFAEREE)
11:15 600 160.0 0.314 S Rige11:15 Fzh (RAERSE)
11:50 600 160.0 0.314 5 {Ri%e11:50 Fzh (RAERSE)
12:20 600 160.0 0.314 =l {Rige12:20 F31 (RAERSE)
12:55 600 160.0 0.314 S {Rige12:55 Fz (RAERSE)
13:25 600 160.0 0.314 E| {Rig013:25 Fzh (REERSE)
13:55 600 160.0 0.314 F BRige13:55 Fa1 (GREERESE)
14:25 600 160.0 0.314 S| {Rige14:25 F3 (RAERSE)
14:55 600 160. 0 0.314 E BRige14:55 Fz1 CGREAERESE)
15:25 600 160.0 0.314 F BRige15:25 Fa1 CGREERESE)
15:55 600 160.0 0.314 = {Rig@15:55 Fz (REAERSE)
16:30 600 160.0 0.314 E BRige16:30 Fzh (GRAERERE)
17:25 600 160. 0 0.314 = RiB017:25 Fzh (REAEESE)
24t] 10800.0 (18)%) 2880. 0 323 KEC: 2080.0, PH: 6.5

AREMTERA (0.91) , BEE

MERRHLEM 2 STREAERFT (265.0 :
BRIASERRIERE150. 0 ml.
RE X 13 [B] RECEUIE S sk

FEERECE (2197.0 vs 4620.0) i3
REXREBT I HEREC/PHER K, FIREFINIEAER K
LOREBIEC (2511.0) S5HEAEEY (2080.0) REKK, BHRE.

150.0), FIREKRREERE




P6AW_W1, Day=64 (2025-06-08)

150 1v1, V8PIBRV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET | 8000
_ - 6000
100 4760
- 4000
50 - 13857
633W i I FVI’, "FVO'] missi - 2000
4400 arning: co , missing 2600
0+—= = -0
600 4 =i —— mw P30
T FRV maxM
.E B 25
= 400 - =
E L 20 =
— 200 -
(o'
[
1.0
"
0.8
0.6 -
0.4 1
0.2 A - —1—
Warning: lcol ["WC1',  "WC2'] missing
3000 1 >
optEC0=2600. 0, setECB=2080.0 —>— EcBx10%
2750 o ECC
2500 - )
2250
2000 A
7.0 & 5ptPHO=6. 5, setPHB=6.5 —>—  PHB¥10%
o PHC
°
6.5 F=mmmmm e = M mm—mmmm e mmmmm P e
)ea,—""”’ffii ’ ¢ JI . ir-1f--::h“-\\\\\\\\\:: 1
6.0 —x
5.5 1
[ ]
1
: 4000
~ *® 1 Bylnit @D68 02:07: ET=1546 Fg=2080.0 Ro=678.0
300 - : L 3000
\Q- 1
o 1
< i @ S & ) R
= 20 : & © e o 2000
A I
— 100 - I - 1000
Ll 1
0  — 0
400 < 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 HEE ES == E3 ES ES == E3 ES ES
’_D B B B B B B B B B B B B B B B B B B B B B B B B
S 3001 ByEt @D64 19:34: ET=1471 Fg=2198.0 R : [ 3000
- . . - — . o—han
s f i
< 200 - < &—e—® |00
- 1
£
= | //( I : I
100 > ] 1000
0 4 2 2 ) 4 I—— 0
400 < 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
= BE | B5 | BB | W5 | W5 | BB [ B | BE | BE | B | B 5 5 5 i 5 5 5 i 5 REREFRERS
= 1
= 300 1 ByWoFv @D68 02:07: ET=2457 Fg=2 Ro=44 > e e e - 3000
s yWov@:>680 07 57 Fg=2880.0 Ro=446. 0 ~”
< 200 - i - L 2000
= = T TITE S
= 100 : - 1000
Y S [HETH NN TH I —
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0ogl B | R | B5 [ | RE | 5 [ B5E [ RE | ”E | HS i 5 5 5 | BB | BB | BB 5 i 5 REREFRESRS
0.6 -
0.4 1
0.2 A
1808 3 | A
[ ] | _obs
1000 - —@— PPFD obs
500 A

gy o

i
©

1S
=
>

FR

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



17.

17.

17.

17.

17.

17.

16.

16.

16.

16.

16.

14.

14.

14.

14.

14.

14.

18

17

16

15

14

M_W

T
400

T
600

860 10b0
m=655,n FV0=0

T
1200

90

88 -

86

84

82 ~

80 ~

6é0 665
m=845,n FV0=0

70

65

60

55 -

50 -

—0—

M_w

845

8é0 865
m=1145q FV0=0

30 A

28 -

26 A

24 -

22 -

20 -

—— MW

—
i

1145

1150 1155

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

17.

17.

16.

16.

16.

16.

16.

16.

14.

14.

14.

14.

14.

14.

60

58

56 -

54 -

52 -

50

60 -

58 -

56

54

52

50

30

28 -

26

24 -

22 A

20 -

30

28 -

26

24 -

22 -

20 -

m=365, FV0=0

—— MW

il

3%0 3%5
m=705,n FV0=0

M_W

7%0 7%5
m=890,n FV0=0

—o— MW

865 960
m=1150m FV0=0

890

- MW

1150 1155 1160

m=520, FV0=0
—— MW
19.0 A
18.5
0000000000000
18.0 A
17.5 4
T T T
520 525 530
m=750,m FV0=0
17. 30
17. 28 A
17. 26
17. 24 ~
17. 22
17. 20 ~ MW
T T T
750 755 760
m=940,m FV0=0
15. 80 -
15. 78 A
15.76
15. 74
15.72
15. 70 ~ MW
940 945 950
m=1155m FVO=0
14. 30 - MW
14. 25
14. 20 ~
14.15
14.10 ~
1155 1160 1165

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

17.

17.

15.

15.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

20

18 1

16

14 4

12 4

10

10

08 -

06 -

04 -

02 -

00 -

25 A

00 -

75 -

90 A

25 A

00 -

20

18 4

16

14

12 4

10

m=585, FV0=0

-o— MW

5é0 5é5
m=795,n FV0=0

T
585

—0— MW

860 865
m=1100m FVO=0

T
795

—0— MW

i

11b5 11H0
m=1160m FV0=0

1100

- MW

1160 1165 1170



m=1170, FV0=0

14.10 -

14. 08

14. 06

14. 04

14. 02

14. 00

- MW

T
1170

T
1175

T
1180

13. 90 -

13. 88

13. 86 A

13. 84

13. 82 A

13. 80 A

m=1205, FVO0=0

—0—

M_W

T
1205

T
1210

T
1215

13.

13.

13.

13.

13.

13.

m=1245, FV0=0

70

68

66 -

64 -

62

60

——

M_Ww

T
1245

T
1250

T
1255




